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where a

5
Combining (59) with equations (3) leads to the following ex-

and ag are the constant displacement coefficients,

pression~ for the displacements,

o 2 |

w=-z(30,r+2a0,) (e

The undesirable feature associated with these displacements

is that.the curvature at the top surface of the wafer is dis-
continuous at the axis. This situation could have been reme-
died by replacing the r3 term in (59) with an ru; however,
the resulting eqﬁations were not deemed tractable at the tiue
this part of the problem was worked. If the above displace-

ments sre combined with the strain definitions, (2), the re-

sults are
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